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Autumn Test 1

Name: Class: @@ Date:
1 |46-10-10= 0 2 (6+8+4= 0
3 | 465+6= 0 G | 453 + 168 = 0
S =63 0 6 | Lofia- 0
7 | 38x2= D 8 | 9x = 45 D
9 |6x0= D 10 | 7X25= C]
1 | 5x3%x4= 0 12 | 654 + — 876 0
13 = 56,842 + 1000 a 14 | 563 x7 = 0
15 | 5343 + 10,000 = D 16| ++3= D
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Autumn Test 1 (continued)

17 | 67,425 + 87,541 = D 18 | 674,205 — 87,452 = D
19 = 52 D 20| 50 X 70 = D
21| 7614+ 3= D 22 | 5425+ 5= D
_ 1.3
23 | 6.75 X =675 D 29 T3 D
1 — —
25 = X4 D 26 | 386 + 5.77 D
512715 3|56
27 < 6 28 X 712
(2 marks) (2 marks)
( Total marks / 30)
How well did you do? T 2 safe[r]u]is]we]w]2a]2
Colour the numbers of the - 11121718
questions you got correct. X 5178|910 n|14]19(20]23]|25]|27]28
- 21 | 22
Fractions 6 16 | 24 | 25
Decimals | 23 | 26
Missing 8112 | 23
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